2 1k
i AR AT

76051t pNEI[R
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H# fH]
1 49 09002072 faH H3F = BNy =7 A%-RC 1:29.26 1:32.05 3:01.31
2 50 09002098 fRYH E T I B Iz B.DS SC 1:29.66 1:32.26 3:01.92
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [‘E1l] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

5584t pNEI[R
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 51 09002076 4k JH3E R JAT V7SC 1:20.03 1:21.67 2:41.70
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [& ] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

50554 pNEI[R
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H# fH]
1 5209002104 H% TH W TFPHSC 1:33.13 1:31.12 3:04.25
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

A 455R A PNEIL IS
N FR
Sy T = AT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T 4= a s 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - @L R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H# fH]
1 5309002078 ZHjE Hi = H< ESC 1:18.10 1:19.47 2:37.57
2 55 09002073 TER KT N M AR =9757 1:25.64 1:25.17 2:50.81
3 56 M #21 57 B FIE AR 1:23.78 1:27.19 2:50.97
4 54 09002089 {EH SF =R B b AF—F—=4 1:26.59 1:29.76 2:56.35
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

1L F- 455518
F=870
NEAT Ag—b =N EEHEE 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



5 1

LT AR ET AT
40554 pNEI[R
N FR
Sy T = AT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] e 1502m
T4 = o Hi R 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 57 09002450 AfR B+ = TV )=SC 1:17.38 1:18.87 2:36.25
2 59 09002088 PEFH: F =R B R AF—F—A 1:21.43 1:21.12 2:42.55
3 58 09001978 TEIR 2BV =y K7 4SC 1:21.45 1:21.83 2:43.28
4 60 09002074 A& HEF gl B ENY=7 A%-RC 1:32.12 1:31.19 3:03.31
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

1L F 405518
F=870
NEAT Ag—b =N EEHEE 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

3584t pNEI[R
N FR
Cay— T = AT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 gt B 4 BE R OBF R B M
1 64 09002781 R4 & BE JFHISC 1:13.67 1:16.92 2:30.59
2 62 09002109 [ —E KB F=h7 TV 1:15.03 1:16.07 2:31.10
3 6309003112 ®F TH BE INEVEYC T 1:15.62 1:16.21 2:31.83
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

L H-305%A% PNEIL IS
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T 4= a s 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H# fH]
1 65 09002785 # N+ R CLUB Doing 1:16.89 1:18.76 2:35.65
DID NOT START [1st RUN] 1
66 09003289 ¥EE HET =R R RES. R
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

265584 pNEI[R
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
67 &l AR o T
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [‘E1l] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 7805t PNELR
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Héf fH]
1 69 09001222  HIkf AR g TP TTSC 1:50.26 1:52.19 3:42.45
DID NOT START [1st RUN] 1
68 09001287 1% &7 g KETTISC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B A58 PNELR
Sy T EANT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] e 1502m
T 4= a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - W FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E ]
1 71 09001715  #)Il M5 TUER 77-VSC 1:26.79 1:30.49 2:57.28
2 7309001844 TIE —1T o FIEHBESC 1:29.91 1:32.78 3:02.69
370 09001289 HE A £y KETTISC 1:26.46 1:37.74 3:04.20
4 72 09001717 Akt [EHH TR FERSYLC 1:32.13 1:32.18 3:04.31
5 74 09001596 #hE E A TR 7 VEYTST 1:30.14 1:34.25 3:04.39
6 78 09003157 I FI =HK TR AT =177 1:38.22 1:39.51 3:17.73
DID NOT START [1st RUN] 2
75 09001610 A% EH A L1F1asc
77 09001226 HE PE— g KETTISC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

B A58
F=870
NEAT Ag—b =N EEHEE 1R 2A&AH A& 37
No No K4 B 4 B B 4 1 L 1 S
DID NOT START [2nd RUN] 1
76 09001773 HHI FEAT T Ji J=AU4YASC
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



5 1

i AR AT

BA-T0581% PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] e 1502m
T =y v a R 1213m
M EERE TH A& (R B ] o 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a—2k vy H— F‘H - L2=N
ISR - A - &= _"T [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - W FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O Rk— [Z5] ISR - C - O Rk— (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39(39) 22— | HEfE 9:25 TR %K 41(39) 2 — IR 12:45
KA E =8 Hard PN =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 80 09001460 H & R A REEFA - E 1:19.54 1:22.50 2:42.04
2 81 09001775 7248 o I=455 TV ) Fh 1:22.74 1:23.69 2:46.43
3 79 09001301 BE FIEA g A ERSC 1:22.57 1:24.67 2:47.24
4 8509001434 MR £ =4l ‘= 1LFSC 1:25.04 1:27.56 2:52.60
5 89 09001523 Hif & B A SNOW DRIFT 1:26.79 1:26.35 2:53.14
6 84 09001310 HR) H4f £T¥ HP S TTSC 1:27.51 1:27.16 2:54.67
7 90 09001697 K ﬁﬁe TR HHBSYLC 1:28.10 1:28.41 2:56.51
8 87 09001601 #F)II fnB = BNy =7 A%-RC 1:27.73 1:28.80 2:56.53
9 91 09001624 ARA FEME 5N ZEYR T AF—1E# B 1:28.56 1:29.75 2:58.31
10 93 09001548 HA 5 gl TV/h)=SC 1:29.34 1:31.12 3:00.46
11 92 09001482 BB & — A I%%’izfﬁ&xﬂf—% 1:33.21 1:34.52 3:07.73
12 88 09001603 (LM F# N B/ R ST AT AR 1:34.81 1:36.95 3:11.76
13 97 09001611 EifE A A /J W A% B 1:34.89 1:36.95 3:11.84
14 98 09001483 Py IL gl B/ R ST AT AR 1:36.50 1:41.01 3:17.51
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

BF705% 8
F=870
JIEAE 25— a-b EEEE - 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
DID NOT START [1st RUN] 4
82 09001656  [LfE #hH M7 . TyTzbd
86 09001647 PhAT &, M7 . -7 1vSC
94 09001474 751 B R DENSO7E A 2~ SKI6
99 09001774 fEF Tl T Ji V=Y F=h
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
83 09003127 )1 HeM gl LAET AN GATE No. 26 , [l 7 @A
Btz md EE (& (L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

BB 65581 PNEIL IS
NN AE SR
Tal— T =T —H
iz M EE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T =y v a R 1213m
M EERE TH A& [l B ] 2 A 289m
AREB A — 3 No. SAJ24-GS-51/91
1 AH 2 A H
a—Rt v H— NI T —RR [=F] a— 2ty H— F‘H - [l B2 ]
ISR - A - &= K (3 50] ISR - A - HH O (%550 ]
ISR - B - D FRK (5 50] ISR - B - {EL R (%550 ]
ISR - C - R (3 50] ISR - C - R (%550 ]
ISR - D - JRH  E [HA] ISR - D - JRH  E [ A]
TR 39(39) 22— | HEfE 9:25 TR %K 41(39) 2 — IR 12:45
KA = e Hard KA - =Yg Hard
A=K7 4=y v a iR -9.2°C / -7.9C A=K7 4=y v a KR -5.9°C / -4.6C
F=870
JIEAE 25— =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Héﬁ ]
1 105 09001641 A IFE 57 B R )N =)SC 1:18.13 1:18.38 2:36.51
2 101 09001609 =% [#4T A LiFasc 1:17.96 1:18.93 2:36.89
3103 09001771 {hilE Wik gl n/4ASC 1:19.90 1:20.27 2:40.17
4 104 09001251 AR P i KETTISC 1:20.71 1:21.21 2:41.92
5 107 09002465 Zguh =iz = D AIESC 1:23.05 1:23.35 2:46.40
6 106 09001606 faFH &= XA BNV =T A%-RC 1:23.36 1:24.96 2:48.32
7 108 09001290 TV EE £y KETTISC 1:23.75 1:25.20 2:48.95
8 113 09001534 HJI| f# XN CLUB Doing 1:32.31 1:35.75 3:08.06
9 117 K JA50 =& Z4SC 1:34.36  1:36.04 3:10.40
10 112 09002517 HE 305 5N FHHSC 1:36.99 1:38.19 3:15.18
11 116 09003343 & =— A ERTIING 1:37.57 1:40.57 3:18.14
DID NOT START [1st RUN] 5
100 09000439 Bk 72 fiEcS FHBRIFT A S
102 09001288 Pl Hh+ER ETy KHTHISC
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 655518
F=870
NERE Ap=b =N EEHEE - 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
110 09001612 ‘EJ5 EiE gag sy JINHCTR A% —3E B
111 09002805 Ak fik N A AR AR
114 09002455 |LH S5 R0 AT TIAX=T 73] -
DID NOT FINISH [1st RUN] 1
118 E=E BT A YR
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
109 09001652 ™3k iz 7 B 7 B 7 v V/SC
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1l] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B H-605%1% PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T =y v a R 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a—2k vy H— F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - D FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O Rk— [Z5] ISR - C - O Rk— (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TP % 39 (39) 2K — R 9:25 M5 41(39) 2 K — R 12:45
KA = e Hard PN - =Yg Hard
AB—bF/T 4=y a R -9.2°C / -7.9C A=K7 4=y v a KR -5.9°C / -4.6C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Héﬁ fH]
1 145 09002771 &+ [l w2 Y =an =JRC 1:14.01 1:16.34 2:30.35
2 129 09001651 =48 [EE 57 B ¥-7° 1/SC 1:16.07 1:16.64 2:32.71
3 124 09001491 FRE A i = T B AR5 1:17.59 1:19.02 2:36.61
4 122 09001720 =45 #H— TR B BUERTSC 1:18.08 1:18.61 2:36.69
5 121 09002444 (UK ez g KHETHiS C 1:18.40 1:19.63 2:38.03
6 141 09001150 P2 f@ae LAY V=Y A0 5 U 1:17.93 1:20.43 2:38.36
7 125 09001582  f&RE b = JAT VFSC 1:20.11 1:20.35 2:40.46
8 126 09001618 /|NEFH: Bk pags| TAYRERESC 1:19.55 1:21.11 2:40.66
9 136 09001620 4 7 A BNy =7 A%-RC 1:20.02 1:21.20 2:41.22
10 128 09001633 A1 HEEA —H VN AN 1:21.18 1:2246 2:43.64
11 127 09001682  His i B P PNSC 1:22.75 1:23.30 2:46.05
12 140 09001515 KiIx FEAT A N4 B BhEL (BR) A% 1:20.98 1:25.23 2:46.21
13 130 09001813 AL E fif] 1 L1 AR V=) )57° 1:22.52 1:24.39 2:46.91
14 133 09001654 fp%H = (=N I E.DS SC 1:24.19 1:24.15 2:48.34
15 143 09003414 A3 Mk g7 B HnsESC 1:24.49 1:2460 2:49.09
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



5 1

i AR AT

B 16051

[[4va

16
17
18
19
20
21
22

A= a=p
No No

138 09002384
134 09002649
139 09001506
131 09002417
144

137 09003158
142 09002792

DID NOT START
119 09001604
123 09001643
135 09001599

DID NOT FINISH

DISQUALIFIED

DID NOT START

DID NOT FINISH
120 09001842

DISQUALIFIED

F=870
X - 1R 2A&AH A& 37
K4 B 4 B B 4 1 L 1 S
Il B w fEEscC 1:23.70 1:26.29 2:49.99
BEAS KRR A TAYVY =74 (BR) AF 1:25.11 1:26.49 2:51.60
PER HEE 5N B ENY=7 A%-RC 1:26.07 1:25.80 2:51.87
P & LA B EERUERTSC 1:25.41 1:27.49 2:52.90
AR EiE =N Ligh 1:30.74 1:28.53 2:59.27
AR TR AT =177 1:29.79 1:30.67 3:00.46
(G (=IE=RE R [t 5 T A% =T 2 1:34.66 1:36.65 3:11.31
[1st RUN] 3
AE 5N D AUIESC
=5 F= M7 . FEIING
R W 5N — = A
[1st RUN] 0
[1st RUN] 0
[2nd RUN] 0
[2nd RUN] 1
g R IR HESC
[2nd RUN] 0
Hifkk @ EE [E1l] 18/098/97

G8/ 2

2012-02-04 / 1 FB DX F A X —F

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

BB -555% A PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T =y v a R 1213m
M EERE TH A& (R B ] o 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a—2k vy H— F‘H - L2=N
ISR - A - &= _"T [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - W FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O Rk— [Z5] ISR - C - O Rk— (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39(39) 22— | HEfE 9:25 TR %K 41(39) 2 — IR 12:45
KA = e Hard PN - =Yg Hard
AB—bF/T 4=y a R -9.2°C / -7.9C A=K7 4=y v a KR -5.9°C / -4.6C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Héf fH]
1 164 09003465 HiE —IA = TV7" ASCHUF 1:16.34 1:17.74 2:34.08
2 152 09001616 fRJF FE= 5N D AUIESC 1:16.87 1:17.60 2:34.47
3 150 09001503 L& A =4 ELEERr VeSS 1:16.99 1:18.03 2:35.02
4 147 09001547 {FE [EHik gl B b AF—F—=A 1:17.23 1:17.97 2:35.20
5 151 JERVAE SN M7 . BHIES 1:17.45 1:17.79 2:35.24
6 149 09001581 ¥ 4FEps =R B R AF—F—A 1:17.51 1:17.82 2:35.33
7 148 09001424 HJH & I BT Av=yr)7 SC 1:17.91 1:18.19 2:36.10
8 165 mA - FoAl 57 B FIE AR 1:17.92 1:18.72 2:36.64
9 156 09002434 Vi 7 o LiFHsc 1:19.04 1:19.79 2:38.83
10 154 09001591 SREA Bk A ¥ AN —}SC 1:20.06 1:19.96 2:40.02
11 153 09001714 JEAR G TR FERSYLC 1:21.96 1:21.46 2:43.42
12 157 09001628 +H F* = DENSO7E A 2= SKIf 1:22.52 1:21.33 2:43.85
13 167 AH OEE N W 1:24.29 1:24.84 2:49.13
14 161 09001517 JHMH F& S N4 A BhEL (BR) A% 1:25.37 1:25.39 2:50.76
15 168 KR 5 gl 7 1:24.99 1:25.95 2:50.94
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 5554

JIENL 2p-h 1=}
No No

16 163 09002861
17 166

DID NOT START
155 09001146
158 09001662
160 09001565
162 09001498
169 09002801

DID NOT FINISH
159 09001557

DISQUALIFIED
DID NOT START
DID NOT FINISH

DISQUALIFIED

2012-02-04 / 1 FB DX F A X —F

Wi
K4

AR HE
M e

[1st RUN]
B SRS
A soth
fiK [E K
s it
HTPR S

[1st RUN]
K —=

[1st RUN]
[2nd RUN]
[2nd RUN]

[2nd RUN]

B4
R

5

(LA
5N

5N
N

—

Ak mh EE

F=870
- 1R 2A&AH A& 37
Fr B 4 BE R OBF R B M
KETTISC 1:28.05 1:30.19 2:58.24
Z24,SC 1:39.43 1:39.90 3:19.33
ILIBLIRTSC
BT -
DENSO7E A 2> SKIf
TAY Y FERESC
DENSO7E A 2~ SKI36
MY E EYE (BR) 2556
['Z1l] 18/098/97
G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

B A-505%1% PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T =y v a R 1213m
M EERE TH A& (R B ] o 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= _"T [ZH] ISR - A - HH O OART [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O Rk— [Z5] ISR - C - O Rk— [ 5]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39(39) 22— | HEfE 9:25 TR %K 41(39) 2 — IR 12:45
KA = e Hard PN - =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 172 09001541 HH =ik R JAT V7SC 1:11.71  1:10.50 2:22.21
2 171 09001499 BH & N TAVY - 2=74 (BF) AF—58 1:13.43 1:13.05 2:26.48
3 173 09001623 2|fH %n8H = T B AF 50 1:14.64 1:14.28 2:28.92
4 176 09001556 RBEL EAE 5N B W B By 1:16.68 1:16.70 2:33.38
5 175 09001510 =}/ H— = F=hAtA 1:18.65 1:16.16 2:34.81
6 177 09000820 [Hk; == XA AR =Y7IA" VSC 1:19.33 1:19.57 2:38.90
7 188 09002853 EJF FniZ TR HERAR=T =177 1:18.77 1:20.16 2:38.93
8 174 09001540 JEMH ZH| = B NI AF—F = 1:23.82 1:16.62 2:40.44
9 178 09001625 HE TEHI| A RV 247 b AF—F 1:21.26 1:21.20 2:42.46
10 186 09001653 Fnm fa{E Iz B VAN VE Y AN 1:21.20 1:22.02 2:43.22
11179 09001614 FgE FEE gl IINBT AR —E R 1:22.36 1:21.81 2:44.17
12 189 09001795 HH K fif] | L1 TAR V=) 1577 1:23.45 1:23.94 2:47.39
13 191 %E?F/F HEIR R W 1:25.56 1:26.01 2:51.57
14 181 09001564 #AVR #7H] =R A7 FYRF=T 73— 1:26.32 1:25.94 2:52.26
15 190 AH Uk =R TAT 1:26.29 1:26.77 2:53.06
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B F505% %
F=870
NEAT Ag—b =N EEHEE - 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
16 182 09001512 Hi g %= XA BRIV =T A%-RC 1:29.27 1:29.13 2:58.40
17 183 09002442 R HES £ KETTISC 1:28.89 1:29.89 2:58.78
DID NOT START [1st RUN] 1
184 09001586  HHiE ELkt R FRE R 1B H1SC
DID NOT FINISH [1st RUN] 3
187 09003134 /NI 7% B F - B A
194 FE  EF A JTEKT
198 09001617 #EH =t R TR 77 VEYTST
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [& ] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

BB A 45584 PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k T B 2N A K — 1502m
T =y v a R 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= _"T [ZH] ISR - A - HH O OART (3 50]
ISR - B - W FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O Rk— [Z5] ISR - C - O Rk— (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) 2K — R 9:25 M5 41(39) 2 — IR 12:45
KA = e Hard PN - =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 211 09003479 FHH: & ANt VANV AN N VAN 1:09.80 1:09.56 2:19.36
2 208 09001585 HJI| {E8H A = ZEE T A HAF 1:11.81 1:11.10 2:22.91
3196 09001710 &S B i TR 3UAYSC 1:13.09 1:13.45 2:26.54
4 210 09002486 dtiE & TR UMY 1:14.28 1:15.65 2:29.93
5 195 09001635 &F'& Kk = A) = M R 1:15.22 1:16.40 2:31.62
6 199 09002334 #H FE— = IMESC 1:15.72 1:16.04 2:31.76
7 202 09001500 H¥H HE— gl M AR =9757° 1:15.43 1:16.40 2:31.83
8 203 09000852 &IV fH1EH W "7 4SC 1:16.34 1:17.58 2:33.92
9 206 09001516 FJI| = =45 N B/ R ST AT AR 1:18.09 1:16.03 2:34.12
10 197 09001709 51 B TR 3UAYSC 1:18.48 1:16.36 2:34.84
11 204 09001544 g HEE= = SKI TEAM SEED 1:19.01 1:17.98 2:36.99
12 217 F% H ) = AR 1:20.52 1:17.31 2:37.83
13 216 AR B gl 7 1:19.11  1:19.93 2:39.04
14 201 09001501 FHI HE = TAVY - 2=T4 (BF) AF—5R 1:18.55 1:24.43 2:42.98
15 220 AR 5h3E =R B P 1:21.75 1:22.43 2:44.18
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 455518
F=870
NEAT Ag—b =N EEHEE - 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
16 218 HLILE Wz A B AR 1:22.20 1:23.78 2:45.98
17 214 B P N W 1:23.42 1:22.91 2:46.33
18 219 R 0 N B | i 1:24.57 1:23.19 2:47.76
DID NOT START [1st RUN] 3
205 09001590 FHH Fz RN AN =FSC
212 09003399 M ffF] N 74/ AWSC
215 HA B R0 B WA Rk
DID NOT FINISH [1st RUN] 1
200 09003136 R 2R B/ R ST AT AR
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
207 09001497 #xH Hi— N TV FERESC
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [& ] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

B A 40581 PNEIL IS
Tal— T =T —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] e 1502m
T =y v a R 1213m
M EERE TH A& (R B ] o 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR [=H] a—2k vy H— F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - D FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O Rk— [Z5] ISR - C - O Rk— (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39(39) 22— | HEfE 9:25 TR %K 41(39) 2 — IR 12:45
KA = e Hard PN - =Yg Hard
AB—bF/T 4=y a R -9.2°C / -7.9C A=K7 4=y v a KR -5.9°C / -4.6C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H%E fH]
1 230 09001127 HFHE = gl TEAM Mt. 1:11.43 1:10.80 2:22.23
2 238 09003016 [LEIH{ ok (=4l BT ILESC 1:12.44 1:12.42 2:24.86
3235 09003139 T S gl AR =UT A VSC 1:14.69 1:14.54 2:29.23
4 222 09001574 &4 [HFE =R ZEY T A8 B 1:14.51 1:15.16 2:29.67
5 223 09001536 FBEE EH = JA™ VFSC 1:15.21 1:14.57 2:29.78
6 247 Pl [ 21 )1 1:15.27 1:15.97 2:31.24
7 224 09000583 Bk K BE ATIRSC 1:16.35 1:16.65 2:33.00
8 234 09003432 Bl fH LAY [(LIALILFFSC 1:17.56 1:16.35 2:33.91
9 243 =W EH o AR 1:16.98 1:17.07 2:34.05
10 225 09002470 HEAR S R WA AR 1:17.10 1:17.64 2:34.74
11 239 09001567 #¢ TEFn = EPRERr v eS| 1:19.18 1:18.37 2:37.55
12 244 BA FIA T JTEKT 1:22.48 1:22.07 2:44.55
13 226 09002796 /Af% E#H AN TV )=SC 1:22.57 1:23.08 2:45.65
14 229 09003076 FEuh FEf— HER B SUERTSC 1:26.53 1:23.72 2:50.25
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

BF405% 1%
JIEAE 25— =N EEHEE

No No K4 B4

DID NOT START [1st RUN] 5
221 09003013 J5 4K ol
227 09001592 J\AK #% =50
232 09001532 {EH #¥ =R
241 HA K 2R
248 el 7 N

DID NOT FINISH [1st RUN] 2
231 09001545  #EFH: FEA N
237 09003386  /INUR A gl

DISQUALIFIED [1st RUN] 0

DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 1
233 09003384 & 22 I

DISQUALIFIED [2nd RUN] 0

Ak mh EE

2012-02-04 / 1 FB DX F A X —F

roJ& 4

T/HFSC
BB IR AT
DENSO7E A 2~ SKI6
B WA Rk

A7 T

LiFisc
NS S

NS S

['Z1l] 18/098/97

2AH & G
(ST A i

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

B 355t PNELR
Sy T EANT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T 4= a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT (3 50]
ISR - B - W FRK [ZH] ISR - B - {EL R (3 50]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TP % 39 (39) 2K — R 9:25 M5 41(39) 2 K — R 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Hé? ]
1 260 g AR T Ji RV 1:11.45 1:12.50 2:23.95
2 252 09002854 R HE AR HERAR=T /=177 1:14.56 1:14.26 2:28.82
3 259 mI ez N YA — 1:13.69 1:15.22 2:28.91
4 249 09001706 Pallp HIK TR HHBSYLC 1:15.22 1:15.22 2:30.44
5 255 AME ER N TR 1:14.96 1:16.33 2:31.29
6 250 09002459 ftiE Tkl I — B T A% —E 1:16.73 1:17.23 2:33.96
7 256 o B AN JTEKT 1:19.40 1:20.17 2:39.57
8 253 09002808 AL gl B b AF—F—=4 1:21.77 1:21.23 2:43.00
9 251 09003133 i tikeE = T FUHE A e — T 1:23.26 1:21.48 2:44.74
DID NOT START [1st RUN] 1
254 09001575 HY 3% N S bk T A% 8 B
DID NOT FINISH [1st RUN] 1
258 09003477 fRH FH2 TR 77-V/SC
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 355t
F=870
NEAT Ag—b =N EEHEE 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 3058 PNELR
N FR
Sy T EANT —H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T 4= a s 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — FH - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - @L R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NERE Ap=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| H# fH]
1 262 IIAE e LAY R-S:T5 U 1:11.51 1:12.99 2:24.50
2 261 09001594 #H #HiE = n/4ASC 1:16.42 1:16.10 2:32.52
3 263 DR EiE (L% N )TRA)=THT 3= 1:22.40 1:11.34 2:33.74
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
264 M B (L34 IEfe B A S —
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



2 1k
i AR AT

B 3058
F=870
NEAT Ag—b =N EEHEE 1R 2A&AH A& 37
No No K4 B 4 gt B 4 BE R OBF R B M
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



2 1k
i AR AT

B 2558 AT PNELR
N FR
Tall— T =N T—H
iz B EEE (& 1] a—24
A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
a— Ry H— NI T —RR [=H] a— 2y K — F‘H - L2=N
ISR - A - &= K [ZH] ISR - A - HH O OAKT [ZH]
ISR - B - W FRK [ZH] ISR - B - {EL R (2]
ISR - C - O R [Z5] ISR - C - O R (3 50]
ISR - D - JRH  E [H] ISR - D - JRH  E [H]
TR 39 (39) A A — R 9:25 M5 41(39) 2 — IR 12:45
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L L I 5| Héf fH]
1 265 &l K% R * 1:13.24 1:13.12 2:26.36
DID NOT START [1st RUN] 1
266 HE Eh 5N 1B T A
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [E1L] 18/098/97
2012-02-04 / IZB DX PR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



